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FIH)TRWVWEDIZE, XEEXHR IV,
(1)
(1) X—3=6
(2)
(2) 4x—-7=5
(8) 4x—-2=3x+1 (3)
2 WOFBERXEZME I,
(1) X=-2=7 (1) X =
(2) X+5=8 (2) X =
(38) 4x=-12 (3) X =
1 (4) X =
(4) 5X= 3
(5) X =
(5) 3X+5=-7
(6) X =
6) 4x=10-X
(7 X =
(7) 3X+2=14+X
(8) X =
(8) 1—-x=5x-2
4 WROHEBIR 5 X 7 0,
(1) X =
(1) X:8=3:2
(2) 7:3=X:6 (2) X =
(8 5:x=2:3
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1 FERAX BX+a=11+42X 0N 3 Thd & X, aDfEr R I,
a =
2 WOFERXEME 720,
1) 4x-3(x+1)=10 W x=
2 0.7x—-06=0.2x+0.9
(2) X =
- X—8 x-5
3 =
2 S (3) X =
X__l—lx_k[]_ _
(4) 3 5 (4) X =
3 MANPDEET, FTVMER UK T >0 TET, 5T >0F5L 128450,
THRTONTLHE AEY T A, EFEDABIZMATL L 9D,
A
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(1) WRBIZBWVSL O, BRHBEL THLMO% TIN, XE2ho TEXR

SN

(2) BHERDOEATFEOYRNEL NI LD,
FREXLEZS2 DX,

(1) 53
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